



UIL  ACCOUNTING

State A-9784

Group 1

For questions 1 through 15, write the identifying letter of the best answer on your answer sheet.



1. An asset that is not subject to depreciation is

       A. land	    B. building		C. equipment		D. none of these



2. A corporation’s total stockholders’ equity is increased by

       A. receiving a payment on account		C. declaring dividends

	B. paying dividends				D. net income



3. The current ratio for the Twain Company is 4.6 to 1.  This means that for every

    $4.60 of:

	A. current liabilities there is $1.00 of current assets

	B. current assets there is $1.00 of current liabilities

	C. total assets there is $1.00 of current liabilities

	D. equity there is $1.00 of assets

	E. owners’ equity there is $1.00 of liabilities



4.  Accumulated Depreciation—Equipment is classified as a(an)

	A. contra asset account	C. contra expense account

	B. liability account		D. asset account



5. 
E
quipment sold for $1,000 and with original cost of $10,000, estimated
 salvage value 


	
of $500, and accumulated depreciation of $8,500, results in

	A. no gain or loss on the sale			C. a loss on the sale of plant assets

	B. a gain on the sale of plant assets		D. none of the above



6.  The dividends account

	A. normally has a debit balance		C. is closed to Capital Stock

	B. is reported on an income statement	D. none of the above



7.  Allowance for Uncollectible Accounts is a(an)

	A. asset account		C. liability account

	B. contra asset account	D. contra liability account



8.  A corporation records earnings kept in the business in the account

	A. Capital Stock			C. Retained Earnings

	B. Cash				D. Net Income



9.  A widely used rule-of-thumb is that the current ratio should be at least

	A. 1:1        B. 1:2	C. 1:3		D. 2:1		E. 2:2		F. 5:1
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10. A delivery truck 
purchased on January 1 
cost 
$12,000
, with
 an 
estimated salvage


     
 value of $2,0
00, and useful life of 10 years.  U
sing straight-line
 
depreciation, 
the 


	
truck 
has a 
book value at the end of the 
fifth
 year of

	A. $5,000	B. $6,000	    C. $7,000		D. $10,000



11. A company using periodic inventory paid the following amounts for merchandise

	during the month of May:  Beginning Inventory, 10 units at $5 each; 1st purchase

	10 units at $6 each; 2nd purchase, 10 units at $7 each.  If the FIFO inventory

	method is used, the amount to record 
the May 31 inventory 
o
f
 
12 units 
is

	A. $62           B. $72            C. $82         D. $180



12. Refer to the data in question #11.  If the weighted-average inventory method is

	used, the amount to record 
the May 31 inventory 
o
f
 
12 units
 is

	A. $62           B. $72            C. $82         D. $180



13. A quick ratio of ____ is considered adequate.

	A. 1:1	B. 1:2	       C. 1:3      D. 2:1	E. 5:1	



14. Using the same inventory costing method for all fiscal periods is an application of

	the accounting concept:

	A. Historical Cost		C. Consistent Reporting

	B. Going Concern		D. Unit of Measurement



15. A corporation’s general ledger accounts are similar to a proprietorship or partner-

	ship except for the

	A. depreciation expense account	C. federal income tax expense account

	B. interest income account		D. allowance for uncollectible accounts







Group 2

The financial statements and other information of E.A. Poe, Inc. are shown in Table 1 on page 8.  For items 16 through 21, write the correct amount, ratio, or percentage on your answer sheet.  For this group, percentages should be rounded to the next whole number.  Ratios should be rounded to the nearest tenth and written in the format shown on the answer sheet.



16. Working capital

17. Current ratio

18. Quick ratio

19. Return on sales

20. Gross profit percentage

21. Return on common stockholders’ equity
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Group 3


The T-accounts for Retained Earnings, Dividends and Income Summary for Whitman 
Corp.
 for the calendar year are presented below after the recording of closing entries.






                       Retained Earnings                                 Dividends

12/31�200�1/1�500��3/1�100�12/31�300��12/31�300����6/1�100���������9/1�100��������������

					             Income Summary

12/31�1000�12/31�800����12/31�200�������

From the T-accounts, calculate the correct amount for items 22 through 25.  Write the correct amount on your answer sheet.



22. Revenue for the year			24. Dividends for the year

23. Net income (or net loss)		25. Ending balance of Retained Earnings



Group 4


Refer to the data in Table 2 on page 9.  For questions 26 through 30, write the correct amount or percentage on your answer sheet.  For this group, all percentages must be expressed as a percent (not a decimal), percentages must be rounded to the nearest hundredth of a percent, and decreases in dollars and percentages must be shown in brackets or parentheses.  
(Use your time wisely
—
it 
is not necessary to calculate every missing amount on the spread sheet.)





26. What is the amount of beginning inventory for 1996?

27. What is the amount of 
gross profit
 for 1996?

28. What is the amount of 
Purchases Discounts
 for 199
6
?

29. 
What is the 
amount 
of ending inventory for 1997?


30. What is the percentage of increase (decrease) of 1997 over 1996 for net sales?




For questions 31 through 36 write “YES” on your answer sheet if the answer is yes.  Write “NO” if the answer is no.





(For questions 31
-
33
):
  
Is the percentage of increase(decrease) of 1997 over 1996 for:


31. gross profit equal to 40%?
	



32. gross sales equal to 15.19%?



33. 
Sales Discounts
 
equal to 
21
.
11
%?





34. 
R
egarding vertical analysis, i
s the 199
6
 percentage for Purchases Discounts 1.
20
%?

35. 
R
egarding vertical ana
ly
sis, w
as the percentage of expenses for 1996 larger than 
the


	
percentage of expenses
 
for 1997?


36. 
Regarding vertical analysis, w
as the percentage of net income for 1996 higher than
 
the


	
percentage of net 
income for 1997?
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Group 5

Refer to the data in Table 3 on page 10
 regarding the Hawthorne Co.
  Write the identifying letter of the best answer for questions 37 through 48.



37. The entry on January 27, 1998 would include

	A. a credit to Notes Payable for $40,000 plus the interest on the note for 180 days

	B. a debit to Notes Receivable for $40,000

	C. a credit to Notes Payable for $40,000

	D. a debit to Accounts Receivable for $40,000

	E. both C and D



38. The maturity date of the note payable is

	A. January 27, 1998		E. May 7, 1998

	B. March 31, 1998		F. July 25, 1998

	C. May 5, 1998			G. July 26, 1998

	D. May 6, 1998			H. July 27, 1998



39. The face value of the note payable is

	A. $40,000 plus interest for 180 days

	B. $40,000 plus interest from the date of borrowing through the end of the fiscal year

	C. $40,000 plus interest for 90 days

	D. $40,000



40. The maturity value of the note payable is

	A. $40,000.00		D. $41,578.08

	B. $40,551.11		E. $41,600.00

	C. $40,568.89		F. $42,000.00



41. The entry on February 
5
, 1998 for the transaction with The Dickinson Co. would

	include a

	A. credit to Notes Payable

	B. credit to Allowance for Uncollectible Accounts

	C. debit to Notes Payable

	D. debit to Accounts Receivable

	E. debit to Notes Receivable

	F. debit to Sales



42. The maturity date of the note receivable is

	A. January 27, 1998		E. May 7, 1998

	B. March 31, 1998		F. July 25, 1998

	C. May 5, 1998			G. July 26, 1998

	D. May 6, 1998			H. July 27, 1998
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43. The entry on March 31, 1998 to accrue interest on the note payable would include



		     Debit/Credit	     Account			Amount

	A.		debit		Interest Expense           	$551.11

	B.		credit		Interest Payable               	$560.00

	C.		debit		Interest Receivable          	$560.00

	D.		debit		Interest Expense              	$568.89

	E.		credit		Interest Income                 	$  73.61

	F.		debit		Interest Receivable          	$  75.00



44. The entry on March 31, 1998 to accrue interest on the note receivable would

       include

		     Debit/Credit	     Account			Amount

	A.		debit		Interest Expense           	$551.11

	B.		credit		Interest Payable               	$560.00

	C.		debit		Interest Receivable          	$560.00

	D.		debit		Interest Expense              	$568.89

	E.		credit		Interest Income                 	$  73.61

	F.		debit		Interest Receivable          	$  75.00



45. On March 31, 1998 immediately after closing entries have been posted and before

	any entries in April, the balances in these three accounts are:



			      Note		Interest	Interest

	             	   Payable		Payable	Expense

	A. 	$40,551.11		   zero		   zero

	B. 	$40,000.00		$560.00	$560.00

	C. 	$40,000.00		$551.11	   zero

	D. 	$40,560.00		$568.89	$568.89

	E.		$40,000.00		$560.00	   zero

	F.		$40,568.89		$568.89	   zero



46. On March 31, 1998 immediately after closing entries have been posted and before

	any entries in April, the balances in these three accounts are:



			     Note		Interest	Interest

			Receivable	        Receivable	Income

	A. 	$5,000.00		$73.61	  zero

	B.		$5,000.00		$73.61	$73.61

	C.		$5,000.00		$75.00	$75.00

	D.		$5,075.00		   zero		$75.00

	E.		$5,075.00		$75.00	$73.61

	F.		$5,000.00		$75.00	  zero
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47. On April 1, 1998 immediately after reversing entries have been posted, the

      balances	in these accounts are:

		   Interest		     Interest		      Interest		   Interest

	 	Receivable		     Payable		     Expense		   Income

	A. $75.00 debit		$560.00 credit	        zero		      zero

	B.       zero    		         zero		$560.00 credit	$75.00 debit

	C.       zero		         zero		$560.00 debit	$75.00 credit

	D. $73.61 debit		$568.89 credit	        zero                       zero

	E.        zero		         zero		$568.89 credit	$73.61 debit

	F. $73.61 debit		$568.89 credit	$568.89 debit	$73.61 credit



48. On the maturity date of the note receivable, the entry to record the receipt of cash

	and the fulfillment of the promissory note would include a:

	A. credit to Interest Income for $50		D. credit to Interest Receivable for $75

	B. debit to Note Receivable for $5,000	E. credit to Interest Expense for $75

	C. credit to Interest Income for $125



Group 6

Refer to the information regarding R.W. Emerson, Inc. provided in Table 4 on pages 11 and 12.  For each adjusting entry, write the correct answer on your answer sheet.  To indicate the account debited or credited, use the account number as shown on the work sheet on page 13.



(This work paper is provided to help organize your answers only.  It will not be reviewed by the graders.  Your answers must be recorded on your answer sheet to be considered.)

				   Adjustment	   Account		Account

Adjustment #	      Amount		    Debited		Credited



	#1……………	      $______		49. _____		50. _____



	#2……………	51. $______		52. _____		53. _____



	#3……………	      $______		54. _____		55. _____



	#4……………	56. $______		57. _____		58. _____



	#5……………	59. $______		60. _____		61. _____



	#6……………	62. $______		63. _____		64. _____



	#7……………	65. $______		66. _____		67. _____



	#8……………	68. $______		69. _____		70. _____



	#9……………	71. $______		72. _____		73. _____



      #10…………..	74. $______		75. _____		76. _____
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Refer to the data given in Table 4 and your work sheet.  Write the correct amounts on your answer sheet for questions 77 through 
80
.



77. What is the amount of gross profit on sales?  (Installation Income is not a

	component of gross profit.)



78. What is the work sheet subtotal of the balance sheet credit column before net

	income or loss is calculated?



79. What is the work sheet grand total of the income statement debit column after net

	income or loss is calculated?	



80. What is the amount of net income or net loss?











THIS IS THE END OF THE EXAM.  PLEASE HOLD YOUR ANSWER SHEET AND EXAM QUESTIONS UNTIL THE CONTEST DIRECTOR CALLS FOR THEM.
 





THANK YOU!



�
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TABLE 1



(for questions 16 through 21)





E. A. Poe, Inc.��Balance Sheet��December 31, 1997��Assets���Liabilities���Cash�$    500��Current Liabilities�$  2,000��Accounts Receivable�1,500��Long-Term Liabilities�  
3,000
��Inventory�1,000��Total Liabilities�$  5,000��Investments�1,000�����Property, Plant & Equip�6,000��   Stockholders’ Equity������Common Stock�
2,000�
����Retained Earnings�
  3,000�
�Total Assets�$10,000��Total Liabilities & Stockholder
s
’
 Equity�$10,000

��



E.A. Poe, Inc.��Statement of Retained Earnings��For the Year Ended December 31, 1997��Retained Earnings, January 1, 1997�$  2,000��Net Income�  1,000��Retained Earnings, December 31, 1997�$  3,000

��



E.A. Poe, Inc.��Income Statement��For the Year Ended December 31, 1997��Net Revenue from Sales�$  10,000��Cost of Merchandise Sold�   6,000��Gross Profit from Sales�4,000��Operating Expenses�   3,000��Net Income�$   1,000

��

Additional Information:

1. The total amount in the Common Stock account on 1-1-97 was $1,000.

2. There were no dividends declared in 1997.
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Table 2



(For questions 26 through 36)





H.W. Longfellow is a major stockholder in a family-owned corporation.  He often brings his small child to the office with him on Saturday mornings to play games on one of the computers while he works on the financial analysis of the company.



Much of the company’s financial statement analysis is performed using a computerized spreadsheet.  Left unattended for just five minutes, his child moved to his computer and found the arrow and delete keys before the following spreadsheet had been saved.





���Increase <Decrease>�1997�1996�����1997 over 1996�Percentage�Percentage���1997�1996�Dollars�Percent�of Net Sales�of Net Sales����������Sales�688,420�597,630�   90,790�
����Sales Returns & Allow.�42,500�44,860�<2,360>�����Sales Discounts�13,770�11,370�
�����Net Sales�632,150�541,400�   90,750�
�100%�100%��Cost of Mdse Sold:��������Beginning Inventory�100,000���25.00%����Purchases�412,425�365,778�   46,647�12.75%����Transportation In�12,755�7,210�     5,545�76.91%����Cost of Delivered Mdse���   52,192�����Purchases Returns & Allow.�12,140�10,800�     1,340�12.41%����Purchases Discounts��������Net Purchases��������Cost of Mdse Available for Sale��� �����Ending Inventory����25.00%����Cost of Mdse Sold���   43,622�����Gross Profit���   47,128��40.00%�38.00%��Expenses���   71,165�����Net Income�57,460�81,497�<24,037>�����
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Table 3



(for questions 37 through 48)



Hawthorne Co. has a fiscal year end of March 31.  The company uses the accrual basis of accounting and utilizes reversing entries.



On January 27, 1998 Hawthorne Co. borrowed $40,000 from the bank.  (The bank calculates interest using 360 days in a year.)  The note was interest-bearing for 180 days at 8%.



On February 
5
, 1998 The Dickinson Co. indicated at this time that they would be unable to pay the $5,000 owed to Hawthorne Co. on account.  The Dickinson Co. issued an interest-bearing promissory note to Hawthorne Co. for 90 days at 10%.  (Use a 360-day year for interest computations.)



At the end of the fiscal year these are the only two notes to which Hawthorne Co. is a party.



                                                    

Calendar Reference��Jan�31��July�31��Feb�28��Aug�31��Mar�31��Sept�30��Apr�30��Oct�31��May�31��Nov�30��June�30��Dec�31��



�
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Table 4


(for questions 49 through 80)



The trial balance for fiscal year end December 31, 1997 for R.W. Emerson, Inc. appears on the work sheet on page 13.  (The work sheet is for your benefit.  The work sheet will NOT be reviewed by the graders.  Be sure to write all your answers on your answer sheet.)





Listed below is information needed for end-of-year adjustments and any corrections needed that were found by the accountant during the year-end review of the accounts.
  
Company policy is to record as an adjustment any bookkeeping errors discovered at the end of the fiscal year.
  The company makes adjusting and closing entries only at year end.
  The company hired a new bookkeeper in 1997 who does not fully understand the accrual basis of accounting.





Adjustment

#1   	The bookkeeper 
failed to record all of the sales on
 
account in the journal for 


		
December 31, 1997  for $585.



#2		The company owns an extra parking lot that it leases to a neighboring 
business.


		
The lease agreement calls for one year’s rent
 
to be paid in
 
advance on June 1 of 


		
each year.  The bookkeeper 
recorded the entire receipt of 
$2,400 to cash and 


		
Rental Income.

		

#3		The property tax statement has been received but not recorded.  Property

		taxes are paid semi-annually and were last paid in June 1997.  The state-

		ment received covers the months of July through December 1997 and must 

		be paid by January 15, 1998.  The total amount due for this six-month 

		period is $1,800.



#4		Prepaid Insurance on the trial balance reflects a one-year policy for $3,900 

		that was paid and went into effect May 1, 1997.



#5		The Aging of Accounts Receivable indicates an estimated $1,450 of

		uncollectible accounts.



#6		The physical count of merchandise inventory at cost on 12-31-97 was

		$74,250.



#7		The bookkeeper did not understand the company’s policy to record 

		purchases of office supplies in an asset account.  The amount in Office

		Supplies on the trial balance represents only office supplies on hand on

		January 1, 1997.  The bookkeeper posted all purchases of office supplies

		for 1997 of $675 directly to the Office Supplies Expense account.  The 

		physical inventory of office supplies on 12-31-97 was $850.
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Table 4  (continued)

Adjustment:

#8		In addition to selling merchandise, R.W. Emerson, Inc. provides services

		to the public for the installation of electronic devices and security systems.

		On December 10, 1997 a customer paid 
 $2,000 in advance 
and in full 
to


	   
 
R.W. Emerson,
 
Inc. 
for
 an installation job.  The new bookkeeper credited the 


		
entire
 
amount to Installation Income.  The actual status of the job on 12-31-97 


		
was
 
only 25% complete.  It is company policy to record as income only the


		
portion of revenue actually earned.



#9		The equipment account consists of two assets as follows.  The company 

		uses straight line over 5 years for each asset.



			Date			         Salvage	      Prior

		         Bought		Cost		Value		Depreciation

		          5-1-95	        $80,000		$5,000	    $25,000

		         8-27-96	        $30,000		$3,000	    $  1,800



#10		All employees are paid a standard salary.  Employees have not been paid

		for the last three work days in December 1997.   Total combined salary

		expense for a five-day work week is $1,500.



�R.W. Emerson, Inc.��Work Sheet��For Year Ended December 31, 1997��Acct�Account Title�Trial Balance�Adjustments�Income Statement�Balance Sheet��#��Debit�Credit�Debit�Credit�Debit�Credit�Debit�Credit��104�Cash in Bank�21,860���������120�Accounts Receivable�32,500���������125�Allow. for Doubtful Accts.��245��������130�Office Supplies�640���������135�Prepaid Insurance�3,900���������140�Merchandise Inventory�68,980���������150�Equipment�110,000���������155�Accum. Depr.— Equip.��26,800��������210�Accounts Payable��48,115��������215�Property Taxes Payable����������220�Salaries Payable����������225�Unearned Rent����������230�Unearned Installation Deposits����������320�Capital Stock��10,000��������325�Retained Earnings��43,030��������350�Income Summary����������410�Sales��459,615��������420�Installation Income��47,800��������510�Purchases�304,400���������610�Salaries Expense�76,500���������620�Depreciation Expense����������630�Property Tax Expense�1,750���������640�Insurance Expense����������650�Office Supplies Expense�675���������660�Bad Debt Expense����������670�Rent Expense�16,800���������810�Rental Income��2,400����������638,005�638,005������������������������������



